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IV Semester 3 Year LL.B./VIll Semester 5 Year B.A. LL.B. and
B.B.A,, LL.B. Examination, June/July 2016
Clinical Course — Il : ALTERNATE DISPUTE RESOLUTION SYSTEMS

Duration : 2 Hours Max. Marks : 60

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
2. Q. No. 9 carries 15 marks and the remaining carry 9 marks
each.
3. Answers should be written either in English or Kannada
completely.

. What is adversarial system ? Explain its advantages and disadvantages.
Marks :
T3 eod T worited ? LT e ) SIBRUIMI
S0,

. What is arbitration agreement ? Explain its essential requirements.
Marks :
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. How are conciliators appointed and what role does the conciliators
play under the Arbitration and Conciliation Act, 1996 ?
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. Narrate the qualities and skills of a Negotiator.
SROROGRTTRTS reaned TR ﬁdc%rwaq‘ QROXD.

. Whatis mediation ? Explain the advantages of mediation.
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. Discuss the nature of conciliation proceeding under the Industrial
Dispute Act, 1947.
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Q. No. 7. What are the functions of the “State Authority” under the Legal
Services Authorities Act, 1987 ? Marks : 9
DI B WOT LOR, 19878 LRCHOTES ULy
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Q. No. 8. Write short notes on any two of the following : Marks : 4%x2=9
FINS et STWE, O £3369 OO0

(a) Mediation process
AT (mediation) S@Eo=¢

(b) Qualities of a negotiator
£92ROTRTT0S Mocansd

(c) Qualifications of Arbitrators.
aﬁoqgo;mdd SBEIN.

Q. No. 9. Solve any two of the following by giving reasons : Marks : 7¥ex2= 15
FINS ST STBRY FoCENYRoRR SVZORD:

(a) ‘A’ is charged for abduction of ‘B’. Later ‘A’ and ‘B’ with a
free consent compromised before the court. Decide.
‘e’ Qo0 [ ‘W DOLTTIS, STBORNR WTTFE,
rODOIRNTDS. e:: =) W <*aa$da oo "eRdoon éa
e;es:;’c:sqba) aao:m,odad =0otd Tozd adm@imbsad QFFORD.

The dispute between ‘A’ and ‘B’ is settled by ‘C" a mediator
who is 17 years old. Decide the validity of settiement.
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A dispute has arisen between ‘A’ and ‘B’ which is of a
contractual nature. A would like to seek an amicable
settlement of that dispute by conciliation. There is no
agreement for seeking an amicable settliement of the dispute
by conciliation. Advise ‘A’ with reasons.
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